O>___//4(Sem-2) BUST
_ 2017
- BUSINESS STATISTICS
~ Paper : 204 .
Full Marks — 80
Time — Three hours -

The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

I W SpIAE Tew R

Answer question Nos. 1,2, 3 and
any four from the rest.

1, 2, 3 R o Teg FRA o
AT MERR [ R @ iR Sew Bk
(@) Fill in the blanks :
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(1) If A is an event then, ..... < P(A) <
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(i) The aggregates of all SﬂIIlple POlntS f the series Wi ... X is
called thei........ ‘ mean of the serles 4X 4X.,
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(ili) The independent _vafiate values

interpolation are termed as ... .
TGEITS FEF BT TP ... @ @ mmneter Of ' POiSSOH probabi-,.
4 @, I ‘v_ﬁfﬂ . e 1 ;

'(iv) Cost of living Index Numbers are knowr \
' | eontrol charts for varlables in
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(b) Write down the approximate relatio" m @ :
between mean, medlan and mode of | ‘ 4
1 Lorrect answer : 1

moderately skewed distribution.
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€ Iwo lines of regression are
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(c) Find the SD of the values given below ! it
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(iii) Perpendicular to each other
. AT T

I the following questions :
‘ - 5%x4=20
ween . primary data and
| v _ _ entlon various methods of
2. (a) Find the GM of 02 and 32. | data. _
02 oI 323 ereileR W SRvedll b il wel e wiief i 1 3

the importance of Statistics

oApe Wi AfomieR e 2Ny el | |

(iv) None of the above.
@IR] OIS T |

(b) Distinguish between parameter and statisti

(¢) Find E(X) for the following probabili O o
" distribution of X : ' | | W@WW@ Rl

-aﬁﬁ%ﬁ@mﬁ@ﬁmmE(X) =
Sl ,

X il ¢ D3
P: 1/8 3/8 3/8 1/8

if‘_—; tica] expectation. A random
the following probability
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(d) State two essential points to be noted whi
drafting a questionnaire. |

| RET O S IS o asﬁaa ;
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(e) Mentlon two properties of correlation
efficient.
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4. (a)

Mention the chlef characterlstlcs of norm

ERE PR G 1

Of a certain dlstnbutlon the Karl Pearso r
coefficient of skewness is 04, the standat
deviation is 8 and mean is 30. Find the mod
and the median of the distribution. '
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Distinguish clearly
ané relative measures of
1+3=4
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| atxstlcs is given to five

probability distribution. » D and E. Their respec-.

PR SRSl TH el WRBPRR o °bab‘1“>’) of solving it are
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! : i ; : | ; and 35 respectively. What is

What is a control chart ? Explain the reaso BRRS leiist ot of thie'stidents

for 3 control limits for a control chart. | .
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Calculate meah and coefficient j_of variaﬁ.
from the following data : 2+4—-
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Marks - :0-10 10-20 20-30 30-40 40-5 ,
=) ‘ : oo 1 ¢ bulbs manufactured by a

No. of students: 15 25 60 40 0‘ fectwe find the Pmbablhty
(RET W) £0'q ! ,j. le of 100 bulbs.
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(i) none are defective

am@ﬁwﬁ@aﬁ'aw

(ii) 3 bulbs are defective.

(Given e = 0°007) _
3 B @oye ﬁ%ﬁr i Y=g TSI ﬁ |
S5 N ‘
(i ez e = 0°007)

2018 2013, 2014

/ ‘produ&on for 2016.
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1 usefulness of Index Number.
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6. (a) Fit a straight 1ine trend by the method ¢
least square to the following data :
5+1%

S SR A TSN ol NI et G
oReTel SPiE I 3 £ elative advantages and limita-
¢ survey and census survey.
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Year . . : 2008, 2009, 2010, 208
| wi% PR s SR

@)

Production : . :
¥ 1 . W
Rs.(ctores) :' 7 " 10 12 b oS! =i
Beof e : 8
Gl ‘eoncepts of Type I and Type II
fepic®) : 4
b i B ooy = S
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8. (a) The following ‘data-are given :

(b)
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X
Mean 40
(S01%9)
S.D . 1S
(I TRoe) '

'Correlation coefﬁcieﬁt between x and

g =g, ‘
x S% y Te| TR odie = 019
(i) Find the two regression equations.

_mq Fieesel 4o e

» (i) Estimate the value of y when x = 60.

x = 60 ZE yIR W WG w4

Distinguish between 1nterpolat10n and

extrapolation giving examples. . ‘ 4

Byl S SIS zni—@*m {1l
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- 10) 15,000(W)

5+1=6 |

9. (a)

(b)

Estimate by Newton's method . of interpola-

tion, the expectation of life at the age 12

years from the following data : o)

mmmqaaWﬂaﬁlzww
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B . 10 15 20liess (B0 33
(1) |

Years

.. 3541323 292 260 232 20l
(I=9) o |

What do you mean by correlation between
two variables ? Explain different types of
correlation. 4
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What are assignable and chance causes of
variation in.a manufacturing process ? When
is manufacturing process said to be under
statistical ‘quality control ? 4
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(b) Write short notes on any two : 3x2=6
R TR e7TS 5 B fert 2
(i) Test of hypothesis

oz oSPE
* (if) Kurtosis
. _ (iti) Level of signiﬁéancé,
% ALFel T '
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